E2LAE WA D8 Y AFE 3T Ho| U=
BIA AEIOIHIA ERIN, & LIE DIEE, T12

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

oy oA >
HT Ol pm
onre E

N (3
o1 ton

3|_|

o

o[>

o >=oum
3| B 1O
bR
[>

r

435t M2l
= 1.4305.
4034,

ta
-

i

il

|, Ast|X| 2
2|E 1.4305.

1.4305.

kl

i T o
I [ 1]
rE iy [

I
X
H
0
H
1§
I
0x
1=

40
Eh

AH|QlEA AR HT

Ha=E 28, ot X =™

HSE g, ot 2 2HIEX A4S

HH.

A ZHM = FH o offt &3 fIxIe
HES Wx|SHoF st 2ol AFSE.

HH EEE +SE E FLIE XS
fIXIZ olSE = RUS

YA

S A A

www.kipp.com - info@kipp.com

1/2



()
== AEI S al X b N S BT Ol= AEIl CC—
=ctAE MO8l Y HAEE Ea Elo] = A8 EE= AH|2I
A AEI O|HIA = b ¥ Y iLS (=) T
Eilr—a olcA =8ix{, 22 L{E 0|X & F}2E|{ L{E n0|E &}
=0
! swi
N
~J
~| hﬁ:ﬂ
=
| ™
~J
‘ e
[N
w
|
-0,02
D-0,04
D1
= g9
FEHS Etel 2 AHE H=2E D D1 D2 L L1L2L3 A2AEEZ3 SW1 Fx30° NES; Etd
S Bt =2
F12N F22.N
K0630.21903 A AE] FEED 3 M6x0,75 14 33 12 5 10 5 8 0,8 4.5 12
K0630.21004 A AR a3t 4 M8x1 18 40,5 15 6 13 6 10 1 6 15
K0630.21105 A AES a3t 5 M10x1 21 46,5 17 7 15 8 13 1,3 5 16
K0630.21206 A AE dst 6 M12x1,5 25 54,7 20 8 17 9 14 1,8 6 18
K0630.21308 A AR 4st 8 M16x1,5 33 72 26 10 23 12 19 2,3 15 45
K0630.21410 A AEl Zdst 10 M20x1,5 33 79 28 12 25 15 22 2,8 15 43
K0630.21412 A AE Zdst 12 M20x1,5 33 84 28 14 25 18 22 2,8 15 51
K0630.21516 A AR Zs 16 M24x2 40 104 32 18 28 24 27 3,2 20 50
K0630.201903 A AE|QlIEA AE dst 3 M6x0,75 14 33 12 5 10 5 8 0,8 45 12
K0630.201004 A AHQIBA AR ast 4 M8x1 18 40,5 15 6 13 6 10 1 6 15
K0630.201105 A AE|QlEA AE 4st 5 M10x1 21 46,5 17 7 15 8 13 1,3 5 16
K0630.201206 A AE|QlIEA AE dst 6 M12x1,5 25 54,7 20 8 17 9 14 1,8 6 18
K0630.201308 A AE|ClEA AR ast 8 M16x1,5 33 72 26 10 23 12 19 2,3 15 45
K0630.201410 A AE|QlEA AE 23 10 M20x1,5 33 79 28 12 25 15 22 2,8 15 43
K0630.201412 A AE|QlIEA AE Zdst 12 M20x1,5 33 84 28 14 25 18 22 2,8 15 51
K0630.201516 A AHQIEA AR 43 16 M24x2 40 104 32 18 28 24 27 3,2 20 50
K0630.211903 A AEQIEA AE HIZ3 3 M6x0,75 14 33 12 5 10 5 8 0,8 4.5 12
K0630.211004 A AE|QlEA AE HIZEst 4 M8x1 18 40,5 15 6 13 6 10 1 6 15
K0630.211105 A AHQEA AE H|&st 5 M10x1 21 46,5 17 7 15 8 13 1,3 5 16
K0630.211206 A AE|QlEA AE HIZst 6 M12x1,5 25 54,7 20 8 17 9 14 1,8 6 18
K0630.211308 A AEQEA AE HIZst 8 M16x1,5 33 72 26 10 23 12 19 2,3 15 45
K0630.211410 A AHQIEA AE H|ZEst 10 M20x1,5 33 79 28 12 25 15 22 2,8 15 43
K0630.211412 A AE|QlEA AE HIZEst 12 M20x1,5 33 84 28 14 25 18 22 2,8 15 51
K0630.211516 A AEQlEA AE HIZst 16 M24x2 40 104 32 18 28 24 27 3,2 20 50
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



